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1. 
The market demand and supply curves are given by QD = 24 - P and QS = 2P, where P is price. 

a)
What is the equilibrium price and quantity?

b)
What is the price elasticity of demand and supply at the market equilibrium?

c) 
What is consumers’ surplus at the market equilibrium?

d)
Determine the effect on total revenues of a technological advance (that shifts the supply curve out) from the perspective of the initial market equilibrium?

2.
The equilibrium price and quantity in the market are given by P0 = 4 and Q0 = 20.

a)
Find the equation of the linear demand curve if 16 units of the good are demanded when the price is 5? 

b)
Find the equation of the linear supply curve if the price elasticity of supply at the market equilibrium is equal to 2 (and P ( 2)? 

3.
The demand for cigarettes is given by QC = 16 - 2PC + PB, where PC and PB denote the price of cigarettes and the price of beer, respectively. 

a) 
Determine whether cigarettes and beer are complements, substitutes, or neither?

b)
What is the own price elasticity and cross-price elasticity of cigarettes and beer when PC = 4 and PB =2?

c)
Using your results from part b), determine the effect of a 20 percent increase in PC and a 10 percent decrease in PB on the demand for cigarettes? Verify your answer by directly substituting the new prices into the demand function. 

4.
The city council in Manhattan is giving consideration to implementing price ceilings on rental units based on the number of bedrooms in the unit. The Manhattan Builders Association is strongly opposed to this policy. The city council has asked you to provide a recommendation as to whether this policy should be implemented. How would you advise them?   

